KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

Operator: License #6170	API No. 15 - 007-22958-00-00
Name: Globe Operating, Inc.	County: Barber 5'N & 20'W of
Address: P.O.Box 12	E/2 NE SE Sec. 20 Twp. 31 S. R. 11 EastXX West
City/State/Zip: Great Bend, KS 67530	1985
Purchaser: NCRA	1985 feet from (S) / N (circle one) Line of Section
Operator Contact Person: Richard Stalcup	feet from (E) / W (circle one) Line of Section
Phone: (620) 792-7607	Footages Calculated from Nearest Outside Section Corner:
Contractor: Name: Southwind Drilling, Inc.	(circle one) NE (SE) NW SW Lease Name: <u>Ivan</u> Well #: 1
License: 33350	Field Name: ILS
Wellsite Geologist: J. C. Musgrove	Producing Formation: Simpson Sand
Designate Type of Completion: RECEIVED	
	Elevation: Ground: 1698 Kelly Bushing: 1708 Total Depth: 4788 Plug Back Total Depth: 4785
X New Well Re-Entry Workov FEB 0 9 2006 X Oil SWD SIOW Temp. Abd.	
	Amount of Surface Pipe Set and Cemented atFeet
Gas SIGW KCC WICHITA	
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from.
Operator:	feet depth tow/sx cmt.
Well Name:	Drilling Fluid Management Plan
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volume400bbls
Plug BackPlug Back Total Depth	Dewatering method used Haul Off
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	
Other (SWD or Enhr.?) Docket No	Operator Name: Messenger Petroleum
1-2-06 1-11-06 1-31-06	Lease Name: Nicholas License No.: 4706
Spud Date or Date Reached TD Completion Date or	Quarter NE Sec. 20 Twp. 30 S. R. 8 East West
Recompletion Date Recompletion Date	County: Kingman Docket No.: D-27434
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply months if requested in writing and submitted with the form (see rule 82-3-nd geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate	the oil and gas industry have been fully complied with and the statements
herein are complete and correct to the best of my knowledge.	
Signature: Richard Stalcup	KCC Office Use ONLY
Title: Prod Supt. Date: 2-8-06	\ \hlank \lank \lank \
Dish and the district of the d	Letter of Confidentiality Received
Subscribed and sworn to before me this8day of February	If Denied, Yes Date:
ω^{00} ω^{00}	Wireline Log Received Geologist Report Received
Notary Public: 11 Jynne Wooster	UIC Distribution
Date Commission Expires: 4-2-07 A NOTARY PUBLIC -	
	WOOSTER

X

ISTRUCTIONS: Show ested, time tool open a emperature, fluid recov lectric Wireline Logs s	nd closed, flowing ery, and flow rates	and shut-in pressure if gas to surface tes	es, whether si t, along with t	hut-in pres	sure reached	d static level, hydros	static pressur	res, bottom hole	
Orill Stem Tests Taken (Attach Additional Sh	eets)	∑ Yes ☐ No		ΣLο	g Forma	tion (Top), Depth ar	nd Datum	Sample	
Samples Sent to Geolo	•	☐ Yes X No		Name			Тор	Datum	
Cores Taken Electric Log Run (Submit Copy)		☐ Yes ☑ No ☑ Yes ☐ No							
List All E. Logs Run:					See Att	tached geol	oist rep	port	
See At	tached								
		CASII Report all strings s	NG RECORD	New		etion ate			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Wei	ight	Setting Depth	# Sacks Used	Type and Percent Additives		
Surface pipe	12 1/4 ·	8 5/8	24		360	Cement 60/40 poz	275	2%gel 3%cc	
Production			15.5		4785	AA2	150	.3%FLA 10% Sa 1%Deform .3%	
		No.				60/40 poz	.75% g	asbulk 5ag.1s Mouse & Rat 1	
		ADDITION	IAL CEMENTI	NG / SQUE	EZE RECOR			**************************************	
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks	Used		Type and Pe	rcent Additives	S	
Protect Casing Plug Back TD Plug Off Zone		•							
Shots Per Foot		ON RECORD - Bridge I ootage of Each Interval				acture, Shot, Cement Amount and Kind of Mat		rd Depth	
•	4785-4788	Open	Hole						
	u					11-74T- <u>8</u> 4-24			
TUBING RECORD 2	Size 3/8	Set At 4780	Packer /	At	Liner Run	Yes X No			
Date of First, Resumerd P 2-1-06	roduction, SWD or E	nhr. Producing		Flowing	X Pump	ping Gas Lift	Oth	er (Explain)	
Estimated Production Per 24 Hours	0il 1	Gas 0	Mcf	Water 10		Bbls. G	as-Oil Ratio	Gravity 375	
		OMPLETION			Production Into		· · · · · · · · · · · · · · · · · · ·		

ISAKLEL-75. TO REDCE RD-ZE. TO NORTHSTAN RD-ZK45 TO T.B. -W THRUGHTE-5 ALCONG FENCE-WTO WELL

TREATMENT REPORT

SERVICE						p-2	100		the second second	;						
Customer	UBE	OFE	R.		Le	ase No.				<u> </u>	Date					· · · · · · · · · · · · · · · · · · ·
Lease 1	-VAM	シ	Well # /						1-12-06							
Field Order #	Station	^ P/	CAT	1. K	5.		(Casing	Depth Depth	4785	Count	Y RIA	RBE	R	State	KS.
Type Joh	owa,	57R	IN	IG"	N	W			Formation		478	8'	Legal De	escription Z	20 -	31-11
PIPE	DATA	F	PERF	ORAT	ING	DATA	F	LUID (JSED				[MENT	RESUME		!
Casina Si	Tubing Si	ze S	hots/Ft	1.36	5	5,63 Acidous KU AAR 5					CHISTY, 3% FRISTION RESUR					
Depty 785	Depth		rom			3,4	Pre Pac		mu 3%							
olume.	Volume	F	rom		То		Pad 4		112501971	Min				10 Min.		
Max Press	Max Pres	s F	rom		То		Frac	SKS	60/4090		yan ,	1		15 Min.		
Vell Connection	<u> </u>	Fi	rom		To	·				HHP Use				Annulus P		·
lug Deoth C	Packer De	epth F	rom	\perp	То		Flush	1124)	Gas Volur			2.71	Total Load		·
Customer Repre	esentative	KI	ZH	<u> </u>		Station	Manager	HV	TRY		Trea	ater //	K. Gr	LIRE		··
Service Units	170	#B	74	220		7353	74/	18								
Oriver Names	KG.	MA	#	R.	<u>S. </u>	PABO	0/			,	1					·
	Casing Pressure	Tubi Press	- ,	Bbls	. Pump	ped	Rate	e				Servic	e Log			
0730		,					····		DN	100	471	JUN		-		
					N 753 63 1				KII	w/4788	? 5	1/2	15,5	# 05	8, 1	13 JK
		:				EIVEC			MACKE	RSH	DE,	LATO	# 1xu	UN BIAF	the	12004
			E	FB	B 0 9 2006			BASIET-BOTTOM #2 CENT1-3-5-7-9-								
				We	OV		ITA		CIRC	DEWK	17	FI	70 B X	501701	7-	PIZKU
29/0				Vr	۷ کاز	VICH	11/1		300	- BUTTO	_ 100	DKE	BP BI	416-5	EI	PLLSP
0915	1300	· (:			,				PACKE	R XX	<u> </u>	RSD 1	15/	HEAD	<i>i</i> /	
1 25/					12	-	<u> </u>		- Fun	1/ /	<u> </u>	5/ /		HUS	<u>17 - </u>	
					<u>1</u> 3	-	_کِـ		Fun		-66	5 <i>1, 3</i>	1418	KHU	5/+	
(5.5.2)				,		-+	<u>_</u>		111	193	66		A) 17 12	21	751
1008			-		36		<u> </u>		3/ 0/) () 1 - 2 -	3	<u> </u>	ZCO	1 3	N-E
									3/. 1/	PUT	3/		DIO DI	16 3#	10 6	<u>רויוט דט כו</u>
			-						7/0/0	D-11			TWE -) D	<u>5010 J.</u>]
					0		61	2	<u> </u>	HEET	NI.	\sim	102	proj	10	11(5
1034 6	M				74		61	7	ارد.			NE	W			
~/				1	08		4	_	<u>~</u>	ow						
1039	1500	-			131		4	,	P	110		WIL		HEZ	7)	'
							· · · · · · · · · · · · · · · · · · ·									·
				41	14				Pull	RH a	d Mi	# -	25 s	16%	40	POZ
									JUB	Com	Ple	72	·	,	<i>j</i>	
										THA	NIC	3 —	He	TUTU!	/111-	THE
10244	NE Llin	OU 61	L D	O B	AV 0	610 .	Dunit	VC 6	7124-861	2 - (000	V 0576	400		(620) 6		



Bill to:

SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

Invoice Date

Order

SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Order Date

Invoice

Invoice

3155600

GLOBE OPERATING		Γ	601067 1/2			11901	1/12/06			
	P O BOX 12			Description						
	GREAT BEND, KS 67530		·		Cei	nent	 ,			
	OREAT BEIND, RS 07330			Lease		Well				
				Ivan		1	New \	Well		
				AFE		Purchase	Order Term	ns		
		<u>_</u> i				<u> </u>	Net 1	30		
	CustomerRep					ater cGuire				
<u>ID.</u>	Description	AND 10 14 300 16 1 15 11 11 11 11 11 11 11 11 11 11 11 1		UOM	Quantity	Unit Price	Price	 p		
D205	AA2 (COMMON)			SK	150	\$15.37	\$2,305.50	_		
D203	60/40 POZ (COMMON)			SK	2.5	\$9.8?	\$245.50			
C195	FLA-322			LB	43	\$7.50	\$322.50			
C221	SALT (Fine)			GAL.	704	\$0.25	\$176.00			
C243	DEFOAMER			LB	15	\$3,15	\$51.75			
C244	CEMENT FRICTION REDUCER	RECE	EIVED	LB	43	\$6.00	\$253.00			
C312	GAS BLOCK			LB	106	\$5.15	\$545.90			
C321	GILSONITE	I CD	9 2006	LB	747	\$0.60	\$448.20			
C302	MUD FLUSH	KCC W		GAL	500	\$0.86	\$430.00			
C304	SUPER FLUSH II	STAC AA	IUTHIA	GAL	500	\$1.53	\$765.00			
F101	TURBOLIZER, 5 1/2"			EA	6	\$74.20	\$445.20	(T)		
F121	BASKET, 5 1/2"			EA	1	\$237.50	\$237.50			
F171	LATCH DOWN PLUG & BAFFLE, 5 1/	/2"		EA	1	\$250.00	\$250.00			
F274	WEATHERFORD CEMENTING SHOE	PACKER TYP	PE, 5 1/2"	EA	. 1	\$3,133.00	\$3.133.00	(T)		
E100	HEAVY VEHICLE MILEAGE - 1 WAY	<i>(</i>		Mï	70	\$4.00	\$280.00			
E101	CAR. PICKUP OR VAN MILEAGE - 1	WAY		Ml	35	\$2.50	\$87.50			
E104	PROPPANT / BULK DELIV SERVICES	S/TON MILE, \$	200 MIN	TM	285	\$1.60	\$456.00			
E107	CEMENT SERVICE CHARGE			SK	175	\$1.50	\$262 50			
R210	CASING CEMENT PUMPER, 4501-500	00° 1ST 4 HRS 0	ON LOC	EA	1	\$1,827.00	\$1.827.00			
R701	CEMENT HEAD RENTAL			EA	1	\$250.007	\$250.00			
S100	FUEL SURCHARGE				1	\$124.58	\$124.58			
						Cub Total	\$12.001.42			
						Sub Total:	\$12.901.63			
	,				Discours	Discount: Sub Total:	\$2,810.64			
	ار.	Bara	ber County &	State Tax			\$10.090.99 \$473.74			
	1 - 7		3		Taxable Iten		\$10.564.73	1		

Russell, KS 67665

Invoice Number: 100141

Invoice Date: 01/06/06

Globe Operating, Inc. P. O. Box 12 Great Bend, KS Sold

To:

67530

RECEIVED

FEB 0 9 2006

KCC WICHITA

Cust I.D....: Globe P.O. Number..: Ivan #1 P.O. Date...: 01/06/06

Due Date.: 02/05/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common Pozmix Gel Chloride Handling Mileage min. Surface Extra Footage Mileage pmp trk Head Rental TWP	165.00 110.00 5.00 9.00 289.00 1.00 60.00 7.00 1.00	SKS SKS SKS SKS MILE JOB PER MILE PER	8.7000 4.7000 14.0000 38.0000 1.6000 180.0000 670.0000 0.5500 5.0000	1435.50 517.00 70.00 342.00 462.40 180.00 670.00 33.00 35.00 75.00	TTTEEEEE
All Prices Are Ne Date of Invoice. If Account CURREN	t, Payable 30 Days Follo 1 1/2% Charged Thereafte T take Discount of \$ 387 in 30 days from Invoice	r Tax	55.0000 total:: ments: al:	3874.90 152.43 0.00 4027.33 387.49	T

ALCEM 1524 3003

22887

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

	, TOANSAS	6/665				SER	VICE POIN	IT:
DATE 1-2-06	SEC. TWP.	RANGE		CALLED			Med	kine lodg
LEASE Ivan		41	W	CALLED OUT	AM ON L	OCATION A		
OLD OR NEW (Circ	WELL# /	LOCATION	¥5.			00 2		JOB FINISH
		28 /	,		Ridge	Pel	COUNTY	STATE
CONTRACTOR	x they	in all	- 104	whar	35 4	5	DEFFUE	15
TYPE OF JOB 50	rface	na		OWNER	Globe	1	,	
HOLE SIZE CASING SIZE	T	D. 365'				-GDel	atina	
TUBING SIZE	8 D	EPTH 360	,	CEMENT	•		ر	
DRILL PIPE	D	EPTH		AMOUNT	ORDERED			
TOOL		PTH		ac/5	SX 60	:4017	+34	
PRES. MAX 200		EPTH NIMUM						
MEAS. LINE CEMENT LEFT IN CSO	SH	OE JOINT		COMMON_	165			
PERFS.	G. 15'	== 30HVI		POZMIX	110	_A@	8.70	1435.
DISPLACEMENT	25			GEL	5	@	4.70	-517.0
	53/5	Freshunt	4	CHLORIDE ASC	_9	@	14.00 38.00	342,0
	EQUIPMENT					@		392,0
PUMPTRUCK CEMP	ENTER			R	ECEIVED	@		
DOO-JAS HELD	ENTER CONTER	The state of the s	49_			@		
# 3-	- Consular	ar West			~ ~ J ZUUR	@ . @ .		
BULK TRUCK	R Toon	Kesler		KCC	WICHITA	@		
#		Acster			TICHITA	@_		
DRIVE	R							
				HANDLING_	289	7	1/0	
R	EMARKS:		Г	MILEAGE	7×28	2 X. 01	1.60	462.40
Run 360' 8 %					min	chg.	TOTAL	180.00
	C59 50	at aculas	110			0	TOTAL _	006.90
Release alva	6265	X Ceman	₹ ***		SER	VICE		
Le stre	ship I	with	D	EPTH OF JOB	3/01			
Leave 15 Cem	not in p	in +del	· · · ·	JME TRUCK C	THADOR	0 -		
Circulate 50						200	2,	270.00
00	2 x 20 P/	Y	IVII	LEAGE	7	@	00	33.00
٠			M/	ANIFOLD		@ _		5.00
CHARGE TO: 6/06	13.	,		- come		@_ _Z \$	5.00 7	5.00
CHARGE TO: <u>Clobe</u> STREET	Sperati	ид	-			@		
CITYSTA	TE	7ID .	_	N		TC	TAL 🌉	
		_ ZIF	- 9	5/2 " DIT	10 0 -		8	13.00
			0	/ PLU	G & FLOA	T EQUIPI	MENT ,	
			1-	TUID		_		
o Allied Cementing Co., Inc	2					_@_ _S S	00 5	5.00
ou are nereby requested to a						_@ @		
nd furnish cementer and help	per to assist a	equipment				- @ @		
						@		
one to satisfaction and super entractor. I have read & und	vision of own	c work_was	***	- 			-	
ontractor. I have read & und DNDITIONS" listed on the	erstand the "T	ERMS AND				TOT	AL 55.	. (17)
and on the	everse side		TAX_					20
A	NYAPPIT	CABLE TA		CUARE	/5			
	WILL BE	CHARGED	- ' V1∩1∀l	CHARGE _		77		
	UPON IN	VOICING	DISCO	UNT		IF D	AID IN 22	
NATURE Julyne -	Tun.	• •			-	, - 11° P/	AID IN 30 D	AYS
	wy		LEL	DINE TRES	NER			
					PRINTED	NAME		
•								